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ach successive number is 4 larger than the preceding
e predict  to be the next number.

G erence between the first two numbers is 1. The next
iffer by 2... We predict  to be the next number.
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c process as well as in
as, but it is incomplete.
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1-3 = )= -6, -6+12 4/2

2-3=-1,4(-1)= 4, 4+12 =8, 8/2 when we look at it listed
e ) VL out this way, the results all
4-3 =1, 4 12 .

M i 'I . increase by 2s.

o 7 This is true, but not the
ey = 2y 2y | 1L+ 124 = E ’ /

73— 4 A(4) = 16. 16412 = 28. 28 pattern we’re looking for.
33 -5 A(5) - 90 20+ . We want to know how the
9-3 = 6, 4(6) = 24, 24+ process changes the input
10-3 = 7, 4(7) = 28, 28 (the number we picked).
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1 s 4(-2) = -8, -8+12 4/2 ead, notice that in each
e . ) 1105 8/7 of these cases, the resulting
¢ ) 11,1010 number is 2 times the
e 4: -3 =1.4(1)=4. 4+12 = 16. 16/2 = ;; : -

c o ) e original number.

. 7 587 A4(})=-8, 8412 = :
7 * We conjecture that
. % 6:3=3, 4(3) =12, 12+12 = 24, 24/- . .

% )6, 16+12 - 28, 28/2 following the given
B 83-5 4(5)-20,20+12 =32, 32 procedure produces a
9 9:3-6,4(6) - 2 36, 36/2 = 18 numbe.r.that is two times
0 08 -7 A7) - 40, 40/2 = 20 the original humber.
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to prove that this process
| come back to this example in




